2 GA. GALV.

COMMERCIAL TDP ROLLER
BRACKET ATTACHED
W/(3 1/4° X 3/4*

HEX HEAD SCREW.

3’ x 20 GA. STRUT
ATTACHED

wW/(@) 1/4" x 3/4°
HEX HEAD SCREWS

ADJUSTABLE SLIDE BRACKET
ATTACHED W/¢@) 5/16* X 374"
CARRIAGE BOLTS AND NUTS

2° 10-BALL STEEL
S°(MIN> STEM ROLLER
W/ 7716 RETAINER FOR
NON-THREADED SHAFTS

TYPICAL TOP FIXTURES 1
N.T.S.

14GA. DURASAFE

CENTER HINGE ATTACHED
W/<4) 1/4° x 3/4°

HEX HEAD SCREWS

3’ x 20 GA. STRUT
ATTACHED

w/€@ 1/4° x 3/4"
HEX HEAD SCREWS

3" x 20 GA. STRUT
ATTACHED

w/<@> 174’ x 3/4°
HEX HEAD SCREWS

TYPICAL DURASAFE CENTER HINGE 8
N.T.S.

3’ x 20GA. STRUT ATTACHED
W/ 1/4" x 3/4°
HEX HEAD SCREWS

///// ///// /////

SEE TABLE 2 l
ON PAGE 4

3" x 20 GA, STRUT
ATTACHED

16’

INSIDE ELEVATION
N.T.S.

(1) 5/16” DIA. x 1~5/8" 1) 2-5/8° X 3-1/2° 18GA
LAG BOLT ATTACHED TO JAMB STEEL BACKER PLATE GLUED TO
AT EA. JAMB BRACKET INSIDE EDGE AT TOP AND BOTTOM

OF EACH STILE LOCATION

/

L ,
4 / / /// % ///

LARGE MISSILE IMPACT
RESISTANT

2X6SP OR PF
(N0. 2 OR BETTER)

:k\zo GA. GALV. STEEL
END STILE

1/4-20 x 5/8°TRACK
oR-<3> Rivers T TRACK MOUNTING DETAIL

N.T.S.

(1) PER ROLLER

- /-d:
B T RETAINER

2" GALV. STEEL TRACK
TRACK THICKNESS .063"

3" x 20GA. STRUT

ATTACHED
W/(3) 1/4" x 3/4*
HEX HEAD SCREWS

! W/ 1/4° x 3/4°
HEX HEAD SCREWS

37 x 20GA.
STRUT

TYPICAL TOP STRUT ATTACHMEN

N.T.S.

TYPICAL DURASAFE END HINGE

N.T.S.

@) 1/4° x 3/4°
HEX HEAD SCREWS

STRUT CLIP

©

14GA. DURASAFE

END HINGE ATTACHED
W/@) 1/4" x 3/4*
HEX HEAD SCREWS

14GA. DURASAFE

ROLLER CARRIER ATTACHED
W/(3) 174" x 3/4*

HEX HEAD SCREWS

@)

24 GA EXTERIOR SKIN

CFC-FREE EXPANDED

27 10-BALL STEEL
S57(MIN> STEM ROLLER
W/ 7/16° RETAINER FOR
NON-THREADED SHAFTS

13 GA. BOTTOM BRACKET/ s |

ATTACHED W/(4) 1747 X 3/4"
HEX HEAD SCREWS.

13 GA, BOTTOM BRACKET
ATTACHED W/(4) 174" X 3/4
EX HEAD SCREWS

2° 10-BALL STEEL
S°C(MIN) STEM ROLLER
W/ 7/16" RETAINER FOR
NON-THREADED SHAFTS

LYTPSICAL BOTTOM BRACKET( : )

POLYSTYRENE INSULATION—

=5.73, U=0.17

THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE WITH THE PROCEDURE
DESCRIBED IN DASMA 108 & 115, ASTM E1886, E1996, E330, F588. THE PRESSURES

SHOWN ON THE DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WTH THE
FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN THE END ZONE, ROOF AT ANY

ION _A—A (SIDE VIEW

N.T.S.

2 1) 3’ 20GA STRUT AT THE TOP
OF TOP SECTION ATTACHED
W/¢@) 1/4* x 3/4’ HEX HEAD SCREWS
AT EACH END STILE AND
W/€@) 1/4’ x 3/4" HEX HEAD SCREWS
AND <1> STRUT CLIP AT EACH CENTER STILE]

12 GA COMMERCIAL

TOP FIXTURE ATTACHED
W/(3) 1/4* x 3/4°

HEX HEAD SCREWS
ADJUSTABLE SLIDE BRACKET
ATTACHED W/(2) 1/4* x 1/2°
BOLT AND NUTS

| -—————27 GA INTERIOR SKIN

(1) 3’ 20GA STRUT AT THE BOTTOM
OF EVERY SECTION ATTACHED
W/(2) 1/4° x 3/4*

HEX HEAD SCREWS AT EACH STILE

END_HINGE
14 GA,

(1> 3" 20GA STRUT STACKED ON HINGES,
ATTACHED W/(3) 1/4” x 3/4°

HEX HEAD SCREWS AT EACH END STILE,
W/¢@> 1/4° x 3/4" HEX HEAD SCREWS
AT EACH CENTER STILE, AND

W/C1) 1/4° x 3/4' HEX HEAD SCREW
HALF WAY BETWEEN EACH CENTER STILH

STEP/LIFT HANDLES ATTACHED

w/¢2) 1/74-20 X 2 1/2 (1200-D>
BOLTS AND 1/74 X 20 NUTS

(1> 3" 20GA STRUT

STACKED ON BOTTOM
~BRACKET ATTACHED
W/ 1/4° x 3/4"
HEX HEAD SCREWS AT
EACH STILE

CONT. ALUM. EXTRUSION
W/ CONT. VINYL ASTRAGAL

REV | DESCRPTION OF REVISONS DA |BY
MAX SIZE | g
1% BEd g ,.a“c“)‘;‘r\\\\ 5
(DOOR HEIGHT SUBUECT| £ = E ..... Ep N 2
TO WEIGHT LIMITATIONS)| '5_-'=E= ;%«...- .":qd‘ ) -‘g
> £ yd .0' '-. o
DESIGN LOADS | E&  Z*& AP
+256 PSF | &K RPN~ -
—-29.1 PSF £ 4 . SRECWT 7 ¢
S 5 : >
TEST LOADS | £S5 ¥/ o . z
[7] . o
(1.5 x DESIGN LOADS) ﬁé " O‘ ,/_CENSE?-"; & g
ST B
—43.6 PS £ § \\\\ :
LARGE MISSLE NPACT | = 5 ! =
RESISTANCE # TX 8

arry

ENTREMATIC

MODEL #1200 AMARR HERITAGE 3000

SLOPE I=1.0): MODEL #1200 AMARR OAK SUMMIT 3000

WIND SPEED (MPH) | 130 | 18 | 112 | 107 | 103 SHORT, LONG, FLUSH & O0AK SUMMIT PANELS

EXPOSURE LEVEL B c c D D SIE| RWNBY RR| DATE 6/5/18 DRAWNG NUMBER

MEAN ROOF HEIGHT | 30’ 15° 25’ 15’ 25’ B | CHEKED BY RR| DATE 6/5/18 IRC-1216-130-15-F;
165 CARRIAGE CﬂEg;rRErNAS?IEN-SALEM, NC. 27105 SHEET 1 OF 4




EXAMPLES 0OF OPTIONAL SHORT AND
LONG PANEL GLAZING LAYOUTS

GLAZING AVAILABLE IN ANY COMBINATION

GLAZING MEETS ASTM E1300-04

M// A | m

///// S

l'l

|m|i

" I:l nlll

0557 6060 EXTRUDED ALUMINUM
IMPACT INTERIOR FRAME
W/.375° BITE ON GLASS

(14> #8 X 1’ PHILLIPS
HEAD SHEETMETAL SCREWS
USED TD FASTEN THE ALUMINUM

174" MAKROLON POLYCARBONATE INTERIOR FRAME TO THE
/ MANUFACTURED BY BAYER ALUMINUM EXTERIOR FRAME

Vi |

s

1787 X 178" CONTINUOUS
(HS078> HOT MELT SEALANT
MANUFACTURED BY BOSTIK

055’ 6060 EXTRUDED ALUMINUM
IMPACT EXTERIDR FRAME

SECTION B-B IMPACT WINDOW DETAIL
N.T.S.

055" 6060 EXTRUDED ALUMINUM
IMPACT INTERIOR FRAME
W/.375" BITE DN GLASS

(10> #8 X 1’ PHILLIPS
HEAD SHEETMETAL SCREWS
USED TO FASTEN THE ALUMINUM

174" MAKROLON POLYCARBONATE INTERIOR FRAME TO THE
/ MANUFACTURED BY BAYER ALUMINUM EXTERIOR FRAME

7 [

r ]

1/87 X 1/8* CDONTINUDUS
(H5078> HOT MELT SEALANT:
MANUFACTURED BY BOSTIK

055’ 6060 EXTRUDED ALUMINUM
IMPACT EXTERIOR FRAME

SECTION C-C IMPACT WINDOW DETAIL
N.T.S.

INTERIOR OF GARAGE

—| MAX. WIDTH 16'0"  f==—

s pesien toaos [ [ TTTTTTTTT]

+204.8 LBS/FT
13328 (BS/FT  SEE NOTES 1 & 2

SPECIFICATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE
VERTICAL TRACK, FROM THE TRACK THE LOAD IS TRANSFERRED
TO THE VERTICAL JAMBS. THE HORIZONTAL JAMB OR HEADER
RECEIVES NO PORTION OF THE LOAD TRANSFERRED FROM THE DOOR.
2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
+204.8 LBS/FT & -—232.8 LBS/FT

3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 24 GA. (.0216) MIN. EXTERIOR SKIN
ROLLED FORMED, W/ BAKED ON POLYESTER FINISH

5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

384° MAX. DLO

SHORT PANEL IMPA AZING TENER DETAL
N.T.S.

REV | DESCRIPTION OF REVISIONS DATE | BY

MAX SIZE
6’ WIDTH
14’ HEIGHT
(DOOR HEIGHT SUBJECT
TO WEIGHT LIMITATIONS)

DESIGN LOADS
+25.6 PSF
-29.1 PSF

TEST LOADS
(1.5 x DESIGN LOADS)
+38.4 PSF
-43.6 PSF

LARGE MISSILE IMPACT
RESISTANCE

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063)
5921-G W. Friendly Ave., Gieensboro, NC 27410

ENTREMATIC

MODEL #1200 AMARR HERITAGE 3000
MODEL #1200 AMARR OAK SUMMIT 3000
SHORT, LONG, FLUSH & OAK SUMMIT PANELS

SEE| DRAWBY  RR| DATE 6/5/18 | DRAWNG NuNBER
B | CHECKID BY RR| DATE 6/5/18 IRC-1216-130-15-F

ENTREMATIC
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 SHEET 2 OF 4




WooD JAMB ATTACHMENT TO STRUCTURE

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
.| 5/16* X 3’ LAG SCREWS STARTING 6 FROM ENDS THEN 24“ 0C. <1 1/2" EMBEDMENT>
SPLICE TRACKS AT THIS LOCATION v

Z 2. X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE
gg/éﬁkg/rt) ﬁ&gmvﬁﬁ ?;f'g%go"g,ia‘,'ju?/y HILTI KWIK BOLT 3/8° X 4 STARTING 6’ FROM ENDS THEN 24° O.C, <2 1/2° EMBEDMENT)
LAG BOLTS HILTI SLEEVE ANCHOR 3/8° X 2-3/4’ STARTING 6 FROM ENDS THEN 20” 0O.C, <1 1/4” EMBEDMENT)

ITW/RAMSET REDHEAD (TRU-BOLT) 3/8° X 4’ STARTING 6 FROM ENDS THEN 24 0O.C. (2 1/2° EMBEDMENT

2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-90 BLOCK
SIMPSON 1/4“ X 3° TITEN SCREWS STARTING 6 FROM ENDS, USE PAIRS OF FASTENERS
(3" APART) AT 16” OC. (1 1/2° EMBEDMENT)

HILTI 1/4° X 2-3/4° KWIK-CON II+ SCREWS STARTING 6° FROM ENDS, USE PAIRS OF
1 FASTENERS (3‘ APART) AT 16° OC. <1 1/4° EMBEDMENT)
2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C-90 BLOCK <2000 PSI GROUT
HILTI SLEEVE ANCHOR 3/8° X 2-3/4° STARTING 6’ FROM ENDS THEN 24° OC. (1 1/4°
i EMBEDMENTY (OR, USE FASTENERS FOR HOLLOW C-90 BLOCK)
: *LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
(SPLICE> xPREPARATION OF WOOD JAMBS BY OTHERS
3!2MGBA§ GALV. TSSTEEL \ A A Y
E-H AMB BRACKE wioop CONCRETE HOLLOW BLOCK
© ATTACHED W/(1) 1/4"—20 - GROUTED BLOCK
3 " TRACK SPLICE BOLT & NUT z STRUCTURE STRUCTURE STRUCTURE STRUCTURE
D al
: = =1 ‘ .
[ A I
1 1/2* MIN 2-3/4* MIN 1-1/2" |MIN 4
A 2X6 JAMB
' TYP. N
TRACK CONFIGURATION FOR 6'6” UP TO 14' TALL DOORS (SEE TABLE 1)
N.T.S. ’
REV | DESCRIPTION OF REVISIONS DATE  |BY
MAX SIZ1E_H = 3
16° WID Qv N\ - 5
14’ HEIGHT | 28 ;-“E‘OF\T‘\ \ 9
(DOOR HEIGHT SUBJECT| £9 AL I z
TO WEIGHT LIMITATIONS)| i 5 z ,;;\ e l' g
< E » 3 ! 2
DESIGN LOADS | Z&t 2% ] 2% ), =
7 +256 PSF | BB SXdi el ) &
7 -29.1 PSF £% 4 THO P
Ta | ARSI AP gs = e / >
T c 4 '. <
TEST LOADS | Es ¢ =
(15 x DESIGN Loaos)| 85 i . LICENSED g
+38.4 PSF | =2 l‘ ............. % &
—43.6 PSF 85 W IONA\.E 2
Eg \\\\\ ©
LARGE MISSLE MPACT | < & n
\ RESSTANCE a TX 2
I
= e z
] & 5 §
I |3
- E I - Amarg
¢ 18 a E T
g8 |E 3 z z
A |¥ = b i 5 ENTREMATIC
MODEL #1200 AMARR HERITAGE 3000
MODEL #1200 AMARR OAK SUMMIT 3000
i ! SHORT, LONG, FLUSH & OAK SUMMIT PANELS
ALL TRACK ATTACHMENT SPACING +/- 1.5 ALLOWED IH l” |
WITH SYP DR SPF NO. 2 OR BETTER ONLY — — SIE| DRAWBY RR| DATE_6/5/18 DRAYING NUNBER
AVAILABLE TRACK CONFIGURATIONS B | CHEGKED BY RIR| DATE 6/5/18 IRC-1216-130-15-F
NTS. ENTREMATIC SHEET 3 OF 4

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105



TABLE 2 TABLE 3

Section Center Stile Locations DOOR SECTION HEIGHTS
Panel Type (Measured from Left Edge) HEIGHT
Width 1st | 2st 3rd 4th
(ft) (in) | (in) | (in) (in) =
190 | Shot 4847 71.59
120 Short 48.811 95.19 ,

57.16] 83.00 |108.71
5776 84.00 11011

REV | DESCRIPTION OF REVSIONS DATE | BY
Short [79.20 130.40
f e %
——h rt -46 6 -93 00 -- 14' HEIGHT | 58 AR S
Sho 39.3 (DOOR HEIGHT SUBJECT '§§ ‘_—"}\E"Qf.]' 5*\\ Z
. TO WEIGHT UMITATIONS)| wi i -~ ANty e o
e 29 2
DESIGN LOADS | EE [« 2
158 Short 7 6219400 1140 36 #2568 PSE | BX  Zx1 STk :
o . . . -29.1 PSF i< ¢ )
TEST Loans | 85§ So7 £
(1.5 x DESIGN LOADS)| &= & 3
+3apsk | 28 4K SS/CENSE‘\ “’a)j/(( £
—43, w® A2 :
Short [48.62] 95.00[141.38] | 6P B3 WS 2
LARGE MSSLE WPACT | & & TX S
RESSTANCE ol
ENTREMATIC

MODEL #1200 AMARR HERITAGE 3000
MODEL #1200 AMARR OAK SUMMIT 3000
SHORT, LONG, FLUSH & OAK SUMMIT PANELS

CONTACT ENGINEERING REGARDING SIZES NOT LISTED

SZE| DRAWBY RIR| DATE 6/5/18 | ORAWNG NOMEER
B[ CHEXED BY RR| DAE 6/5/18 IRC-1216-130~15-F

ENTREMATIC
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 SHEET 4 OF 4




